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| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----—--- ---
by the Keeping and use of animals.
1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be --——--eceeeueev by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——-----eeeeee-
to be used for the new dish.

1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other —-----ceeeeev -~ issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he -------—-——---- puts off doing his
assignments until the last minute.
1) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint -----eeeceeeeee to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try (0 —==-—emmeemeee themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was ——-—----—--- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --—--eeeeeeeee , 48 you can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10- New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can ----------—--—- diabetes.
1) cause 2) halt 3) identify 4) accompany
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from fewer than a billion to more than a trillion. (11) ————- , since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) -—----—-—--—— and altering both their
culture and their physical environment, (13) ---m-emeemm- -- can thus defy any formula
(14) ~——mmemmmeee the matter. The number of people that Earth can support depends on
(15) -=========-——, on what we want to consume. and on what we regard as a crowd.

11- 1) It is probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1

While there will always be ways to manipulate the search engines, there is no telling if
you will eventually get caught and lose your rankings if you optimize your site
different risk levels.

Search engines try hard not to flag false positives, so there is usually a bunch of
slack to play with, but many people also make common mistakes.

The search engines aim to emulate users. If you design good content for users and
build a smart linking campaign, eventually it will pay off.

New aggressive techniques pop up all the time. As long as they are available.
people will exploit them. People will force the issue until search engines close the
loophole, and then people will find a new one. The competitive nature of web
marketing forces search engines to continuously improve their algorithms and filters.

The ongoing effort of keeping up with the latest SEO tricks is usually not worth it
for most webmasters. Some relational database programmers and people with creative
or analytical minds may always be one step ahead, but the average business owner
probably does not have the time to dedicate to keeping up with the latest tricks.
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17-

18-

19-

20-

Tying ethics to SEO techniques is a marketing scam. Either a technique is effective.
or it is not. There is nothing unethical about being aggressive. You probably do not
want to take big risks with domains you cannot afford to have blacklisted, but there is
nothing wrong with owning a few test sites.

The best title for this passage is -----==-emcuuev,

1) Search Engine Optimization

2) Tying Ethics to SEO Techniques

3) Building a Smart Linking Campaign

4) Using Overtly Manipulative Techniques

Using deceptive techniques for improving your site ----ee-eeeeeeee,

1) has an unpredictable effect upon your ranking

2) doesn't have any influence on your position

3) helps you to gain the desired results

4) makes you finally lose rankings

The phrase "flag false positives" in the first line of paragraph 2 means «--—-eceeeueeu- .
1) design negative content 2) label good sites as spam

3) deal with common mistakes 4) mark a finding as positive

The ordinary webmasters don't try to stay level with the SEO tricks because they -------- ,
1) believe they may always one step ahead

2) believe it takes a lot of time to remove them

3) think they aren't creative or don't have analytic minds

4) don't have enough time to be informed about the most recent deceits

All of the following are true EXCEPT ~---eeemeemeeee,

1) the people always tend to use manipulative techniques to derive benefit from them
2) being aggressive is not moral in the marketing domain

3) the essence of web marketing is very competitive

4) using the deceptive techniques is increasing every day

PASSAGE 2

The concept of decision support and decision support systems (DSS) has evolved
mainly from the theoretical studies of organizational decision making done at the
Carnegie Institute of Technology during the late 1950s and early 1960s, and the
implementation work done in the 1960s. DSS became an area of research of its own in
the middle of the 1970s, before gaining in intensity during the 1980s. In the middle
and late 1980s, executive information systems (EIS), group decision support systems
(GDSS). and organizational decision support systems (ODSS) evolved from the single
user and model-oriented DSS.

The definition and scope of DSS has been migrating over the years: in the 1970s
DSS was described as "a computer-based system to aid decision making": in the late
1970s the DSS movement started focusing on "interactive computer-based systems
which help decision-makers utilize data bases and models to solve ill-structured
problems": in the 1980s DSS should provide systems "using suitable and available
technology to improve effectiveness of managerial and professional activities", and
towards the end of 1980s DSS faced a new challenge towards the design of intelligent
workstations.
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Beginning in about 1990, data warehousing and on-line analytical processing
(OLAP) began broadening the realm of DSS. As the turn of the millennium
approached, new Web-based analytical applications were introduced. The advent of
more and better reporting technologies has seen DSS start to emerge as a critical
component of management design. Examples of this can be seen in the intense amount
of discussion of DSS in the education environment.

21-  Which of the following titles is most appropriate for this passage?
1) DSS: Evolution History
2) DSS: Benefits and Liabilities
3) DSS: Key Component of Management Design
4) DSS: Knowledge Management at Your Fingertips
22-  You can infer from the passage that ~—---eeen-,
1) DSS was rendered obsolete by the advent of intelligent workstations.
2) modern reporting technologies are by-products of DSS
3) DSS is meaningless without model-oriented analysis
4) as technology has evolved. so has DSS
23-  As implied by the passage, DSS 3
1) lacked reporting features until quite recently
2) lacked Web-based features until 2001
3) was not multiuser before 1980
4) was not an independent research area prior to 1980

PASSAGE 3

A computer user can be tricked or forced into downloading software that is of
malicious intent. Such software comes in many forms, some of which will be
introduced hereinalter.

Computer Viruses are programs that can replicate their structures or effects by
infecting other files or structures on a computer: the common use of a virus is to take
over a computer to steal data. Computer Worms are programs that can replicate
themselves throughout a computer network, performing malicious tasks throughout.
Ransomware is a type of malware that restricts access to the computer system that it
infects, and demands a ransom paid to the creator(s) of the malware in order for the
restriction to be removed. Scareware is a type of software with a malicious payload.
usually of limited or no benefit, that is sold to consumers via certain unethical
marketing practices: the selling approach uses social engineering to cause shock.
anxiety, or the perception of a threat, generally directed at an unsuspecting user.
Spyware refers to programs that covertly monitor activity on a computer system and
report that information to others without the user's consent. A Keylogger secretly
records (logs) the keys struck on a keyboard. Trojans are malicious software that
pretend to be harmless. so that a user willingly allows them to be downloaded onto the
computer.
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24- According to the passage, Scareware
1) scare people into disclosing their social network prohhs
2) scare people into sending the software to other users
3) are unintentionally downloaded by novice users
4) are sold to users via scare tactics
25-  Which of the following can be inferred from the passage?
1) Ransomware cannot replicate.
2) Trojans are downloaded with the user's consent.
3) Spyware cannot be removed unless a ransom is paid.
4) Keyloggers and Spyware are essentially one and the same.
26- According to the passage, which of the following is true about worms and viruses?
1) Neither one can access personal data.
2) Neither one is ever used for malicious purposes.
3) Both are always transferred via networks.
4) Both can replicate.

PASSAGE 4

Network security starts with Authentication, commonly with a username and a
password. Since this requires just one detail for authenticating the user name—i.e.. the
password—this is sometimes termed one-factor authentication. With two-factor
authentication, something the user 'has' is also used (e.g., a security token, an ATM
card, or a mobile phone): and with three-factor authentication. something the user 'is' is
also used (e.g.. a fingerprint or retinal scan).

Once authenticated, a firewall enforces access policies such as what services are
allowed to be accessed by the network users. Though effective to prevent unauthorized
access, this component may fail to check potentially harmful content such as computer
worms being transmitted over the network. Anti-virus software or an intrusion
prevention system (IPS) can help detect and inhibit such malware.

Honeypots. essentially decoy network-accessible resources, may be deployed in a
network as surveillance and early-warning tools, as the honeypots are not normally
accessed for legitimate purposes. Techniques used by the attackers that attempt to
compromise these decoy resources are studied during and after an attack to keep an
eye on new exploitation techniques. Such analyses may be used to further tighten
security of the actual network being protected by the honeypot. A honeypot can also
direct an attacker's attention away from legitimate servers. A honeypot encourages
attackers to spend their time and energy on the decoy server while distracting their
attention from the data on the real server. Similar to a honeypot, a honeynet is a
network set up with intentional vulnerabilities. A honeynet typically contains one or
more honeypots.

27- This passage is mainly about .
1) introducing the types of attacks in computer networks
2) comparing network security systems to surveillance systems
3) introducing the basic stages and techniques of network security
4) comparing network monitoring techniques to early warning methods
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28- Which of the following statements is NOT true about honeypots?
1) One or more honeypots can be used in a network.

2) Honeypots are used for distracting the attackers from valuable resources.

3) Honeypots disseminate crucial information in order to lure in potential attackers.

4) Data gathered from attacks on honeypots is analyzed in order to enhance security.

29-  You can be infer from the passage that
1) honeynets are exposed to network attacks dchbgratcl\

2) firewalls enforce access policies in order to prevent worms from spreading
3) adding additional factors for authentication can adversely affect security

4) decoy servers are used for flow management in a network
30-  According to the passage, in three-factor authentication,

1) the username is considered a factor

2) a password is not necessary

3) a security tag can be used as the second factor
4) facial features can be used as the second factor
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